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R 1 1 5E BAE SR (E3) 11 34 48.280 CR

2 2@ s AER(E3) 12 21 48.460 CR

3 15 XM =E Vortex(411) 23 13 50.280

4 6 PIEE AL TBHER(E3) 24 8 50.370
AERBE 5 12 #L K Vortex(411) 13 54.000

6 11 kK [E4& BB R (F2) 13 54.130

7 17 $8K K& Vortex(411) 2 4 54.260

8 14 1t % Vortex(#1) 2 4 54.800
FiE 9 10 4@l £} HE/ AR (2) 3 53.270

OP 19 F=F {EXEB R ER(F1) 3 55.970

OP 101 A& H&E M) IHPER (1) 3 57.440

OP 20 F £& =ZFRER(H1) 3 1.12.860

10 13 # SEK Vortex(411) 4 54.050

11 16 A% 5RE Vortex(#11) 4 59.420

OP 18 TR kit BREHR AR (HH2) Disq




